Bt #® Bt -REREME  BERE
T i 16 100V 48 ~ —
# i & = T~ T
BAS (H7) 50 60 —44 ~
HETH (W) 20 22 B4 0 S =
g %) | 0.220 | 0.250 = ]
BE (n°/h) 212 212 36
31 EOBEE (n'/h) 145 159 - \
K R | 127 137 150 ~ \
B & (dB) 35.5 35.5 ™~ 50
T 5 (ko) 3.0 - s
5 NI A 0240mm =<
BRI (RUB) $100mm =100 ~ al 20 .
EYR TR | ABRIF YT -BEERE | |2 T X fg
£ B % g = AR YN S5
£ B K& E & i 10 b
BeE LR 75KHT 20 n=
AEPERE -10~40C B
£ & K | IMOME(d. c. 500V)
BB W N | a c 1000V |HH \ %E
() WEHBUBEO P2l 5HA60TT. (AR 0 50 100 150 200 <
WEGBATEZRR (J1S CO603) ORECLBHOTT. BE (m®/h) A RYABREMN
1 RENRRECEERLR2 Om0BA XEEARE: 97 K CHEZZ ol
%0 ENAGEUEERSR30n0RA AEBRE Q?M%%E%W miﬁji\f HZ\L\B\\))
B mm DQSO 09
9%“ — (| _’+
|y G
| e f
(-]
] ofl) v N - G
- —
b “@ oﬂ:iﬂo d
L J
. /. 2l 0300
— % ) Y
- — — — TY/ 7479 -RAR
Wi 2x5. 5
g o) i B i g X
‘ ale( T TR
o JyFuHt- 24y F (%)
~i< | O | o =y [ E [e! H
o & L-H o [ =2 _ i)
SRR , 2k ; [ B —
\ ¢ Il Zfla c. 100V)
@ |-l Ty /
, | 5% Ng E‘Fiﬁ
I \ T T T T Xz
L;:[i - =1 \Q> A49F (BI7E) FY-SVOSW, FY-SVOBNC
KRR N \@ ,
8x5x9ER 140 CRRERT BREN
254 TEmZ HE iz N7 (¢100) BABHY 20
277 Hy}&g%ﬁﬂg 1 —/
TSHBEE I
SyEvRU| 6 | AKEER
2 & £ |1 ZIHE & % BARALMR
1 170U-A RERR IBEE . v - %ﬁ&ﬁﬁ ) A7 VEATEAMINCAR A HH TR,
2 [r-vy7 |pr#E |1 |28 Bt b RER) BE | Ty -
317975~ |BRAR | | - A-HOEE:229cm’
5 lyrys- [WE7NZ] 1 ﬂHm 2 o - o
6 | A AL il ] X#@L%T@RF ( / '%ﬁ ﬁﬂ%%ﬁ&@ [ZMM ﬁ%ﬁﬂ) ’: \( i 2 4 B G 7 / 8 4
e 1 (HARER - BELET L -1 (544577) PPHE)
8 | Mk P P &l Ag [ rERERR | 17 5. 13 [ HENO.
9 |®ERT  |PBIEE| | | AmBEREE| == ' i ’}Iﬂ gﬁj DN=-507 0
EEETE | SEESE Free|¥l4s
== PRIBE | 1 [wohEs. 1YR1.0/4.0 NTV:V7I]DX?QXH§%H

TATA4




